Romans 9:31



- is the adversative use of the postpositive conjunction DE, meaning “but, however, or nevertheless.”  With this we have the nominative subject from the masculine singular proper noun ISRAĒL, which we transliterate as “Israel.”  Then we have the nominative masculine singular present active participle from the verb DIWKW, which means “to follow in haste in order to find something, run after, pursue, strive for, seek after, and aspire to something.”


The present tense is a 
historic present, which dramatically and vividly narrates the past event as though it were actually taking place and Paul and his readers are watching it (which in reality they are watching what has happened in the past by observing all the Jews now pursuing righteousness by keeping the Mosaic Law).  Because this present participle is coterminous with the action of the main verb, which is an aorist indicative, it can and should be translated as a past action.


The active voice indicates that Jews produced the action of striving for or seeking after righteousness by keeping the Mosaic Law.


The participle is circumstantial and coterminous with the action of the aorist tense of the main verb PHTHANW, which comes at the end of the verse.

This is followed by the accusative direct object from the masculine singular noun NOMOS, which means “the Law” and refers to the Mosaic Law.  The absence of the article indicates the high quality of this Law as the one and only law given by God to Moses.  With this we have the genitive of attendant circumstances, which indicates the manner in which the action of the verbal idea is carried out, from the feminine singular noun DIKAIOSUNĒ, meaning “with righteousness” and referring to human self-righteousness.  In this case the Jews pursued keeping the Law of God by the use of their own righteousness
“but Israel, who ran after the Law with [human self-] righteousness,”

 - is the preposition EIS plus the accusative of purpose from the masculine singular noun NOMOS, meaning “for the purpose of the Law.”  Then we have the negative OUK, meaning “not” plus the third person singular aorist active indicative from the verb PHTHANW, which means “to come to or arrive at a particular state, attain, come up to, reach, attain something; Phil 3:16;”
 “to attain or arrive at a particular state - ‘to come to be, to attain, to achieve.’”


The aorist tense is a culminative aorist, which gathers into a single whole the action of not attaining or accomplishing the purpose of the Law—to receive the righteousness of God by believing in Christ.


The active voice indicates that the Jewish unbelievers produced the action of not attaining or accomplishing the purpose of the Mosaic Law by recognizing their sinfulness and depending upon the Lamb of God to take away their sins and give them the righteousness of God.


The indicative mood is declarative for a dogmatic statement of fact.

“has not achieved the purpose of the Law.”

Rom 9:31 corrected translation
“but Israel, who ran after the Law with [human self-] righteousness, has not achieved the purpose of the Law.”
Explanation:
1.  “but Israel, who ran after the Law with [human self-] righteousness,”

a.  The entire sentence reads, “That the Gentiles, who did not strive for righteousness, have attained righteousness, that is, the righteousness which [is] from the source of faith, but Israel, who ran after the Law with [human self-] righteousness, has not achieved the purpose of the Law.”  


b.  In contrast to the Gentiles, who believed in Christ and received the imputation of the righteousness of God, Paul now looks at the Jews.  The Jewish unbelievers never accepted the word of God as presented in the Mosaic Law.  They rejected Codex Two, the presentation of Jesus Christ as the Lamb of God, who takes away the sins of the world.


c.  The Jewish unbelievers did not want the Messiah to come to earth and suffer as a substitute for them.  They wanted to make themselves like the Most High God by the development of their own personal righteousness.  The result was the development of their own personal self-righteousness and arrogance.  This is the same flaw that Satan had in his fall.


d.  The Jewish unbelievers were imitators of Satan in his arrogance and self-righteousness.  The Jews emulated Satan.  They acted just like him.


e.  Therefore, the Jewish unbelievers ran after the Mosaic Law with their own righteousness.  They did not want the righteousness of God given freely to them.  Instead they wanted God to accept their own self-developed righteousness.


f.  The problem with pursuing the Law with their own righteousness was the continued existence of the sin nature in their human bodies and its function in their lives.  The problem with human righteousness is the continued function of the sin nature.  No matter how righteous a person becomes from their own ability, volition, good works, obedience to God, etc., they still have a sin nature and still produce personal sins.


g.  There is not and never will be any member of the human race who is able to attain a state of sinless perfection.  They cannot do so because they still have the imputation of Adam’s original sin.


h.  So in their negative volition, the unbelieving Jews wanted to make themselves good enough through their behavior to be acceptable to God.  They did not care about God’s standards of righteousness.  They did not care about the righteous demands of the justice of God.  They were completed pre-occupied with themselves to the exclusion of God’s requirement that they believe in Christ.

2.  “has not achieved the purpose of the Law.”

a.  The result was that the Jewish unbelievers never achieved or attained what the Law required.


b.  The Law required that they recognize their inability to keep the Law because of personal sin.  The Law required that they recognize their need for a savior.  The Law required that they recognize their Messiah as the only possible Savior.


c.  The purpose of the Law was to show mankind his sinfulness and need to believe in Christ for salvation.  The Jews rejected this purpose of the Law, while the Gentiles recognized it apart from the Law.  The Gentiles did not have the Mosaic Law to guide them, but recognized their own sinfulness.


d.  When the gospel was presented to the Gentiles, they immediately recognized their need for salvation and embraced the Lord Jesus Christ as their savior.  They achieved and attained the purpose of the Mosaic Law without ever having had the Mosaic Law.
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